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1. Thelink in Fig.1 is subjected to two forces F; and F,.Determine the
magnitude and direction of the resultant force.
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Fig.1
2. Determine the horizontal and vertical components of reaction on the
beam caused by the pin at B and rocker at A as shown in Fig.2 Neglect
the weight of the beam.
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3. Determine the force in each member of the truss shown in Fig.3 and
indicate whether the members are in tension or compression.
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4.Draw the shear and moment diagrams for the overhang beam in Fig.4
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Fig.4
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5. Blocks A and B have a mass of 4kg and 12kg,respectively,and are
connected to the weightless links shown in Fig.5.Determine the largest
vertical force P that can be applied at the pin C without causing any

movement. The coefficient of static friction between the blocks and the
contacting surfaces is s = 0.4.
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